THRBELIRES

[ Fmk 23 &5 A 31 B 1]# ]

1TEX 1T B X 4 B LS gt o ATEX 17T B X 4 B LS it A [ TEIX 17T B X 4 5 LS it oy
1/RER 84 97 181 49 201 | &7 EREp 380 414 794 300 36 |BHABEN 629 635 1,264 346
(0 1) ( 1) (—TH) 3) NniC 4 (STH) 0) | ( 1)1 ( 1)
pALUN = 372 391 763 291 202| &7 R D 663 705 1,368 562 321 | HEE— 0 0 0 0
(0 I C 3 (ZTH) 2) NniC 3 (— T H1~4%F) 0O/ ol o0
3| HTH 70 84 154 49 203 |'& /7 AR 581 598 1,179 455 322| X HE— 197 198 395 123
(O 0 C 0 (=TH) 1) 2 3 (Z T H4%) 2) | ( 2 4
4B 348 425 773 327 204 |8 /7 AR 493 519 1,012 393 323 | HE— 695 685 1,380 401
(O 0 C 0 (MTH) 2) 2 4 (=T H4%) 2) (4 ( 6)
5— /B4 67 60 127 36 211 |k 433 424 857 332 324 | HEE 389 400 789 281
(O 0 C 0 (—TH) 0) 1) ( 1) (DU T H1~177H) 0O/ ol o0
6| —/F4 89 84 173 51 212 |kt 209 248 457 174 325|E HEE 679 691 1,370 405
(0 1) ] ( 1) (ZTH) 0) 0 C 0 (H T H43) 1) ( 2 3
7= B4 164 162 326 107 213 |kt 277 252 529 186 326 | HE— 344 381 725 206
(O 0 C 0 (=TH) 0) 0 C 0 ONT H1~177H1) 0) | ( 1)1 ( 1)
8|&E I H 164 151 315 102 214 |k 357 374 731 290 327 | HEE = 850 872 1,722 495
(0 1) ] ( 1) (MTH) 0) 0 C 0 (ET H4u8) 0O/ ol o0
9| gt H 50 40 90 27 221 | BT DOY—TH 577 596 1,173 413 328 |k HEE = 225 228 453 143
(0]« 1) ] ( 1) 0) 0| C 0 O\T H 43) 0) | ( 1)1 ( 1)
105 69 65 134 40 222 | BHITDOY T H 703 704 1,407 497 329|pk M = 3 4 7 4
(O 0 C 0 1) 4) | ( 5) (LT H 438%) 0O/ ol o0
11| K= 45 48 93 23 223|BHITOY=TH 851 828 1,679 601 331 | HEE — 0 0 0 0
(O 0 C 0 1) 1) | ( 2) (— T H5~8%h) 0O/ ol o0
12|45 5% 106 91 197 53 231|HEE—TH 610 646 1,256 429 334 | HEE = 411 399 810 291
(0 1) ( 1) 0) 0| C 0 (MUT H18~28%H) 3) | ( 5 (C 8
13 K& 49 50 99 25 232|HEE-TH 793 845 1,638 566 336 | HEE — 462 489 951 269
( 0) | ( 0) | ( 0) 2) 4) | ( 6) (NT H18~353%H) 0) | ( 0) | ( 0)
14 A FH 82 85 167 43 233|HER=TH 364 384 748 254 401| ERAA—TH 551 578 1,129 351
(O 0 C 0 0) 1) | ( 1) 3) ( NI 4
15/8A 102 82 184 52 241 | BTG — 420 440 860 266 402 ERAARTTH 0 0 0 0
( 0) | ( 0) | ( 0) 0) 2) | ( 2) 0)  ( 0) | ( 0)
16| P& 1% H 105 121 226 61 242 |1 T54E — 181 178 359 104 411\ KiGAK—TH 680 697 1,377 399
(0 1) ( 1) 1) 0) | ( 1) 5) | ( 7 [ ( 12)
20 i K Afh 270 255 525 182 301 | MG HH— 427 480 907 345 412 KGRk —TH 332 338 670 206
(O 0 C 0 (—TH) 0) 0 C 0 N, C 0 ( 1)
101 | K74 325 366 691 249 302 RIAEEH— 414 461 875 347
(—TH) ( 1) ( 2 3 (ZTH) 1) 2 3
102 | K74 2717 283 560 211 303 HGH = 544 610 1,154 434
(ZTH) (0 2 2 0) 2) | ( 2)
111 O&hE—TH 817 832 1,649 601 304 A GE Y =— 1Y 158 178 336 158
( 2) | ( 3) | ( 5) 0) 2) | ( 2)
M2/ 0&0ETH 486 432 918 360 M |\BFHABEE— 558 611 1,169 396
(0 ( 1)1 ( 1) (—TH) 0) 1) ( 1)
12117 —2 b 264 247 511 157 312\BHABE 479 532 1,011 316
(O 0 C 0 (ZTH) 0) 4) (4
140|LHDR 193 176 369 142 NI FAEE= 666 686 1,352 403
(—TH) ( 1) ( NI 2 (=TH) 0) 2 2
141 | HOR 50 58 108 11 M4 BHABRE= 204 199 403 144
(—TH) (O 0 C 0 (MTH) 4) 1) ( 5)
142\ L H0R 345 358 703 256 5 HAREL 1,057 1,027 2,084 656
(ZTH) ( 2) | ( 6) (8 (MWTH,EZTH) 1) 0) | ( 1)
() PIANE AR SE S Th ik [ &5 ] B 23839 A % 24577 A it 48416 A 16,476 tH=
KIZV—2 e 1F, O E— T BATBIXIZE E008, EBNTEFL TVET, ( 42) ( 81) ( 123)
SIVERAP 1, BT FATBIXISE END08, ERINZERHL TVET, [ ATAXRE ] 5 23720 A T 24468 A it 48188 A 16,382 7
[ 5] B 119 A Z 109 A 5t 228 A 94 iHH




